
Herreneinzel C

Dykmann

Tetzel

Dykmann 1 Lingenfelder 1 Tetzel

0 Lingenfelder 0

Rosenek 0 1 Tetzel

1 Rosenek 0

Dykmann 1 Rosenek 0 Hendra

0 Hendra 1 Verlierer 1

Seidel 1 Tetzel

Hoeck 0

Seidel 1 Siemon 1 Hoeck

0 Siemon 0

Siemon 1 1 Hoeck

0 Borst 0 Verlierer Position A

Wiederstein 1 Borst

Wiederstein 0 Verlierer 2

Borst

Seidel

Phung 0 Hille 1 Seidel

1 Hille 0

Phung 0 0 Uthemann

1 Phung 1

Schulz 0 Phung 0 Uthemann

1 Uthemann 1 Verlierer 3

Hendra 0 Soesanto

Schwirtz 1

Schulz 0 Schwirtz 0 Dykmann

1 Dykmann 1

| Schulz 0 0 Soesanto

| 1 Schulz 1 Verlierer Position B

| | Schulz 0 Soesanto

Seidel | Soesanto 1 Verlierer 4

| |

Seidel 1 | |

7. Platz 0 | |

Phung | | Tetzel

| |

Rosenek | 1 Tetzel

| Schulz 0

Rosenek 1 | 1 Schulz

0 | Uthemann 0

Siemon | 1 Tetzel

Hendra 0 | Hoeck 0 1. Platz

9. Platz 1 Borst | 1 Hoeck

| Dykmann 0

Hendra 0 | | 0 Soesanto

1 | | 1 Soesanto

Hendra | | Soesanto 2. Platz

| | | |

Siemon | | |

| | Schulz

Borst 0 | | 1 Schulz

11. Platz 1 | | Hoeck 0 3. Platz

Borst | |

| Uthemann

Lingenfelder 0 Dykmann

Dykmann 1 5. Platz

Lingenfelder 1

0

Wiederstein

Lingenfelder 1

13. Platz 0 Hille

Schwirtz 0

1

Schwirtz

|

Wiederstein

Wiederstein 1

15. Platz 0

Hille


